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Discussion
1 Introduction

Regarding MN/SN measurement coordination, followings were agreed in RAN2#98:
Agreements 

1:
At least, the total number of measured carriers across LTE and NR needs to be coordinated between MN and SN so that it does not go beyond the UE capability.

FFS if there are any other UE capabilities related to measurements for which coordination is required across LTE and NR.

2: 
If MN and SN both configure a measurement object on the same carrier frequency then the measurement objects need to be configured consistently.

FFS which parts of the object need to be configured the same and which can be allowed to differ.

3
For MCG and SCG, measurements (objects/ID/reportConfigs) can be configured independently by LTE RRC (inter-RAT measurement on NR) and NR RRC (intra-NR measurements on serving and non serving frequencies). (noting that for the objects will be configured consistently as described by agreement 2)

=>
Ask RAN4 which parts of the objects (we can provide details for the object parameters) from MN and SN should be the same. If RAN4 response indicates further problems then we can reconsider these agreements.

In this contribution, we discuss the measurement assistance information required for proper measurement object configuration.
2 Discussion
The NR frequency which needs to be measured by LTE side of UE and NR side of UE are clearly different. To support handover to NR cell during EN-DC, the LTE side needs to measure all NR neighbour cells. On the other hand, considering the reason why the NR side also measure NR frequency is to enable SN to initiate the SCG change based on the NR measurement results received from the NR side, the NR side needs to measure only NR cells which are directly connected to the MN via X2 interface.
Observation 1. NR side in UE needs to measure and report only NR SCell candidates, not all neighbour NR cells.
However, SN doesn’t know which neighbour cell is SCell candidates. So, if MN doesn’t inform SN of the SCell candidates, the SN may instruct UE to measure/report unnecessary NR cells. For instance, there are 5 NR cells around am UE in figure 1. Among them, only cell 1, 2 and 5 are connected to the MN via X2 interface. This means that the MN cannot perform the EN-DC operation with cell 3 or 4.
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Figure 1
Though the UE reports measurement results of cell 3 or 4, it is not useful to the SN because the SN cannot be changed to such cells. So the UE doesn’t have to do that. Furthermore, there is no SCell candidate on NR frequency ‘A’, so the UE doesn’t need to measure the frequency ‘A’. The NR frequency A should not be configured as a measurement object for the NR side in UE, and cell 4 needs to be configured as a blacklisted cell for the NR side.
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Figure 2
Therefore, MN should informs SCell candidates of SN before the SN configures NR measurement object as shown figure 2.
Proposal 1      MN informs SCell candidates of SN. 
After receiving the SCell candidate information from MN, the SN configures NR measurement object including whitelist/blacklist based on it.
Proposal 2      SN configures NR measurement object based on received SCell candidates.
3 Conclusion
In this contribution, we discussed measurement assistance information and made followings:
Observation 1. NR side in UE needs to measure and report only NR cells which is directly connected to the master node via X2 interface.
Proposal 1      MN informs SCell candidates of SN. 
Proposal 2      SN configures NR measurement object based on received SCell candidates. 
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